#### Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 7 - Cowdenbeath

6,632

4

1,327

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alie BAIN	Scottish National Party (SNP)	1,916
Jacqueline BIJSTER	Alba Party for independence	85
Alex CAMPBELL	Scottish Labour Party	2,028
Helen Foster GREIG	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	80
Gary GUICHAN	Scottish Labour Party	489
Alyssa LEE	Scottish Greens - Think Global Act Local	169
Bailey-Lee ROBB	Scottish National Party (SNP)	513
Peter James VENTURI	Scottish Liberal Democrats	96
Darren WATT	Scottish Conservative and Unionist	1,256
	Total	6,632

Candidate Alie BAIN Elected with 1,916 votes, being in excess of the quota of 1,327 Candidate Alex CAMPBELL Elected with 2,028 votes, being in excess of the quota of 1,327

# Transfers Report

This report contains the transfers results.

# Stage 2 - Surplus of Alex CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqueline BIJSTER	21	0.34566	7.25886
Transfer to Helen Foster GREIG	29	0.34566	10.02414
Transfer to Gary GUICHAN	1,456	0.34566	503.28096
Transfer to Alyssa LEE	31	0.34566	10.71546
Transfer to Bailey-Lee ROBB	89	0.34566	30.76374
Transfer to Peter James VENTURI	31	0.34566	10.71546
Transfer to Darren WATT	156	0.34566	53.92296
No further preference	215	0.34566	74.31690
Not transferred due to rounding			0.00152
	Total		701.00000

# Transfers Report

This report contains the transfers results.

# Stage 3 - Surplus of Alie BAIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqueline BIJSTER	58	0.30741	17.82978
Transfer to Helen Foster GREIG	22	0.30741	6.76302
Transfer to Gary GUICHAN	92	0.30741	28.28172
Transfer to Alyssa LEE	90	0.30741	27.66690
Transfer to Bailey-Lee ROBB	1,490	0.30741	458.04090
Transfer to Peter James VENTURI	6	0.30741	1.84446
Transfer to Darren WATT	33	0.30741	10.14453
No further preference	125	0.30741	38.42625
Not transferred due to rounding			0.00244
	Total		589.00000

# Transfers Report

This report contains the transfers results.

# Stage 4 - Exclusion of Helen Foster GREIG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqueline BIJSTER	5	1.00000	5.00000
Transfer to Gary GUICHAN	8	1.00000	8.00000
Transfer to Alyssa LEE	9	1.00000	9.00000
Transfer to Bailey-Lee ROBB	5	1.00000	5.00000
Transfer to Peter James VENTURI	4	1.00000	4.00000
Transfer to Darren WATT	25	1.00000	25.00000
Transfer to Gary GUICHAN	14	0.34566	4.83924
Transfer to Alyssa LEE	2	0.34566	0.69132
Transfer to Bailey-Lee ROBB	2	0.34566	0.69132
Transfer to Peter James VENTURI	1	0.34566	0.34566
Transfer to Darren WATT	3	0.34566	1.03698
Transfer to Jacqueline BIJSTER	2	0.30741	0.61482
Transfer to Gary GUICHAN	3	0.30741	0.92223
Transfer to Alyssa LEE	2	0.30741	0.61482
Transfer to Bailey-Lee ROBB	7	0.30741	2.15187
Transfer to Peter James VENTURI	1	0.30741	0.30741
No further preference	24	1.00000	24.00000
No further preference	7	0.34566	2.41962
No further preference	7	0.30741	2.15187
Not transferred due to rounding			0.00000
	Total		96.78716

# Transfers Report

This report contains the transfers results.

# Stage 5 - Surplus of Darren WATT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gary GUICHAN	422	0.01419	5.98818
Transfer to Bailey-Lee ROBB	74	0.01419	1.05006
Transfer to Peter James VENTURI	231	0.01419	3.27789
Transfer to Gary GUICHAN	67	0.00490	0.32830
Transfer to Bailey-Lee ROBB	8	0.00490	0.03920
Transfer to Peter James VENTURI	15	0.00490	0.07350
Transfer to Gary GUICHAN	2	0.00436	0.00872
Transfer to Bailey-Lee ROBB	13	0.00436	0.05668
Transfer to Peter James VENTURI	2	0.00436	0.00872
No further preference	484	0.01419	6.86796
No further preference	64	0.00490	0.31360
No further preference	15	0.00436	0.06540
Not transferred due to rounding			0.00410
	Total		19.10447

## Transfers Report

This report contains the transfers results.

## Stage 6 - Exclusion of Jacqueline BIJSTER

116.02054

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gary GUICHAN	9	1.00000	9.00000
Transfer to Alyssa LEE	16	1.00000	16.00000
Transfer to Bailey-Lee ROBB	28	1.00000	28.00000
Transfer to Peter James VENTURI	3	1.00000	3.00000
Transfer to Gary GUICHAN	7	0.34566	2.41962
Transfer to Alyssa LEE	2	0.34566	0.69132
Transfer to Bailey-Lee ROBB	2	0.34566	0.69132
Transfer to Peter James VENTURI	1	0.34566	0.34566
Transfer to Gary GUICHAN	11	0.30741	3.38151
Transfer to Alyssa LEE	7	0.30741	2.15187
Transfer to Bailey-Lee ROBB	26	0.30741	7.99266
Transfer to Peter James VENTURI	1	0.30741	0.30741
Transfer to Gary GUICHAN	9	0.01419	0.12771
Transfer to Alyssa LEE	1	0.01419	0.01419
Transfer to Bailey-Lee ROBB	2	0.01419	0.02838
Transfer to Peter James VENTURI	3	0.01419	0.04257
Transfer to Alyssa LEE	1	0.00490	0.00490
No further preference	34	1.00000	34.00000
No further preference	9	0.34566	3.11094
No further preference	15	0.30741	4.61115
No further preference	7	0.01419	0.09933
Not transferred due to rounding			0.00000
	Total		116 02051

Total 116.02054

## Transfers Report

This report contains the transfers results.

## Stage 7 - Exclusion of Peter James VENTURI

120.26874

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gary GUICHAN	34	1.00000	34.00000
Transfer to Alyssa LEE	21	1.00000	21.00000
Transfer to Bailey-Lee ROBB	7	1.00000	7.00000
Transfer to Gary GUICHAN	10	0.34566	3.45660
Transfer to Alyssa LEE	3	0.34566	1.03698
Transfer to Bailey-Lee ROBB	1	0.34566	0.34566
Transfer to Gary GUICHAN	1	0.30741	0.30741
Transfer to Alyssa LEE	2	0.30741	0.61482
Transfer to Gary GUICHAN	77	0.01419	1.09263
Transfer to Alyssa LEE	25	0.01419	0.35475
Transfer to Bailey-Lee ROBB	5	0.01419	0.07095
Transfer to Gary GUICHAN	6	0.00490	0.02940
Transfer to Bailey-Lee ROBB	1	0.00436	0.00436
No further preference	41	1.00000	41.00000
No further preference	19	0.34566	6.56754
No further preference	5	0.30741	1.53705
No further preference	127	0.01419	1.80213
No further preference	9	0.00490	0.04410
No further preference	1	0.00436	0.00436
Not transferred due to rounding			0.00000

Total 120.26874

## Transfers Report

This report contains the transfers results.

## Stage 8 - Exclusion of Alyssa LEE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gary GUICHAN	60	1.00000	60.00000
Transfer to Bailey-Lee ROBB	88	1.00000	88.00000
Transfer to Gary GUICHAN	7	0.34566	2.41962
Transfer to Bailey-Lee ROBB	6	0.34566	2.07396
Transfer to Gary GUICHAN	4	0.30741	1.22964
Transfer to Bailey-Lee ROBB	57	0.30741	17.52237
Transfer to Gary GUICHAN	18	0.01419	0.25542
Transfer to Bailey-Lee ROBB	7	0.01419	0.09933
Transfer to Bailey-Lee ROBB	1	0.00490	0.00490
No further preference	67	1.00000	67.00000
No further preference	25	0.34566	8.64150
No further preference	40	0.30741	12.29640
No further preference	49	0.01419	0.69531
No further preference	4	0.00490	0.01960
No further preference	1	0.00436	0.00436
Not transferred due to rounding			0.00000
	Total		260.26241

## Transfers Report

This report contains the transfers results.

# Stage 9 - Exclusion of Gary GUICHAN

1,158.36891

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bailey-Lee ROBB	119	1.00000	119.00000
Transfer to Bailey-Lee ROBB	236	0.34566	81.57576
Transfer to Bailey-Lee ROBB	55	0.30741	16.90755
Transfer to Bailey-Lee ROBB	76	0.01419	1.07844
Transfer to Bailey-Lee ROBB	7	0.00490	0.03430
No further preference	481	1.00000	481.00000
No further preference	1,258	0.34566	434.84028
No further preference	56	0.30741	17.21496
No further preference	450	0.01419	6.38550
No further preference	66	0.00490	0.32340
No further preference	2	0.00436	0.00872
Not transferred due to rounding			0.00000
	Total		1,158.36891